Ao I Nh—5 TR SEPE

MNTHEE

@1 h—5 T DEMIT - B DTS L. A RMYyTF%&
OFFDIKEETIEEL TTFE LY,

BRNE J9A4h—507

@l fHFICHELRTE (BISHR) _
1A H—RT— O5 2 7Hls £ AT~ 1~ DBE L EHYEE A,
2NV T (EER) ORNTELIA v Hh—5 Y TOBEABETT.
37 —RA—R(RAF RELERE) OfF—T—RRERMERL, (E%—/CD50/E)
4 IR FERMEI O — R O THFE I T DBRICLETT,

1947 —=RA57~—

HEAECEHLEPTIVHAX (MXL)
M8 X 30, M8 X 40, M8X 46, M10X 30,

| BEL)
T M10X46, M10X 60, M12X30, M12X 48,
CD50, B F—, AT P FFX, ¥</\RZ,
rll%*[ayjmnt:xégsﬁ YINSRERELTBEYET,
4 ==
21NV 7 () @ N T (B ELIAVH—FV TOBRIHETT,
DT OFEFRMICIIMIECEBLTOSHDERD.
(VFRIVS/ (W) Dy DBDEFERLTTI,
@ OO UF—VUU R/ RE—-OLUXICE 34
: ) LoV (BB ZERLTT X0,
IR
@ JIEK
O Fha—RSUFITERLTTFE,
®5 7Lk
OuA vh—eRParDFTha—-Rsy7
ICERLTTFE0,

BENEY  OFFILERIE. BELWEVAEERLTTEX,

37—R3d—F

RAFTR(=) AV A—-527DOaA—RELTH)BRETT,
F0A., 7T—AdA— RBHETT,
BO—R, Ba— Rk, A0 +E£EELT

BUET,

ABFERBEHO—R AU ECRA OB ALETT,

AOYEER
== == T elmz

=
ookt B

BfHFE > ona—ksr7ons TS P4 5 TEBRLTF &,

go- h<+>r7w73— B AER
= [CD IRy aE

N e v - (—)P~2
- ™ o —
e

@ U b ST IVEREBICIMHT S, RofeROLar ARRIELTHRBLEBELTTEN,

FTNA—RSLTDIEE TavboArh—50 T ERLTTE,

@YTNIA>H WO RH)E B{FRIERORT DI~
“5‘/7’0)5—— 2%!153!’)‘%5 g%_kﬁgtz\jb‘ﬂtj
RiEEHEOHD Vi S I LY =
TEXF—OR [ A HIN—% B{A{ER
ZHBSELVE. [ T59 (Y1 U —
A (C UL D
i?ﬁ LTHY F I~ r~(+)‘t‘J/zu
EOBRTFIL4E = (—)YP—2
ZERh. $-35-F =08

QEFAIEL(I— ROEE) XEFCLIREMEIBALHVET,

A = = A H=(F)E|IAh— (R E|R1FRA(T-R) | R Pary H | R¥var &
wk v & k& T 2 P -Va=-D P a=
A fd B 2 5 .
Ao % K 5 £2/8 i &5
A X F s 2 2/8

URL : http://www.cgcparts.cojp

e v
#ARH FRE E-mail: info@cgcparts.co,jp



